TR EHIIEN R

2
=
S
2
1

aF 24 8 A

HAAFmBERRA S B4

THE T HFEBHT



1. RESEEL

B =

THETHEBEIEN B EREEES

2. B4

Bt T3 TH i prE N

()

B T3 T AT E N

(&)

()

(F)

()

(F)

(H)

(F)

(H)

(E)

4. MELHNE

Hips A 15K

BEmsEREE (D) A 15K

BEmsEREE (D) B 15K

0 LT V6 M B2V

EHTEE 150

5. #i Eil

B &f 2 8H 21 ~ E A 3 8

218 ( 360Hf#)



mom N R E p-
A4 |ﬂ‘ﬁ1$$?’%ﬁﬁ%l"] TH S R A RS
T f& £ i A B BN iy &  F ]
B HERE
BN a2 5 = 1 7,396,012
B A N 1
Bt (D) A geat b kn -
iR st (D) A FEAEREHRXTERY ¥ 2
*E%W%"“‘ir (D) A #ﬁLﬁIVEEJZ km 1.9
g ExE (D) A iu A km 1.9
kst (D) B EANARL] km 2.9
g Et (D) B *“‘f%ﬁmm/ﬁﬁk % 2
ingaREt (D) B REMTXKIVERR km 2.9
gkt (D) B KRR km 2.9
e LR E  MREtS ok =, 1
e TEFERE SR s E O ER E 1
Jii TETEARET  ARE XA ERR = 1
i TR G R R EV 1
T H X e AR B = 1 560, 279
g s (D) A FEXER km 1.9
WEEREE (D) B P XKER km 2.9
T H X E AR A = 1 243, 600
g Ex e (D) A HEWIEATERR km 1.9
WAL (D) B SEBTBATER kn 2.9
EHT A
e EtIT e = 1 754, 700
EHTAE = 1
HIRSERS - EEER e
HTEEEs - EERE =, 1 20, 160
At - B - 15IAE = 1
Z O = 1 5, 445, 018
— AR B Y 1 8, 382, 645
il N 1 23, 960, 000




